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Math 761 Quiz 2 Version A @

1. Let v{t) = e?™* where t € [0,1] Use Cauchy’s integral formula to evaluate the
following integrals:
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2. Consider the curve given by C = [v1] + [y2] + [ys] + [ve] where 1 (t) = 1 +i(2t - 1),
Yo(t) = 1 — 2t + 1, y3(t) = =1 + (1 — 2t} and y4(t) =2t — 1 — i '
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3. Prove if f is bounded on [0,1] that (£, h;r) = O(279/2) as j — o0.
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4., Prove one of the following:
(i) K zg € [0,1] is a dyadic irrational then there is an increasing sequence j, of
natural numbers such that :
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- (i1) Let hjy be the functions which make up the Haar system. Define
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If 2 € [a,c) then

o b '
f Shyx(t)dt + / hye(t) dt = 2273 (zy — a).
G -

Fart @) is aactly Hhe bimmin for tart R} thar sredbis
dreay ratys.
Bt tli) Js selited 1o Fa Fosd parte) 4o posf of Thnenn 2
wmmz f}z} tane 2 L Jhe Hoorcgebi ot m&(en.y ‘mﬁ? <
T 7wqéﬁue{m; part dz) is an bollpas
o gt 55 1T iy gl
"2 te [e, ) |

/ 4., 604¢ 4[ £, 1t = / Shy e # / byo 6) I - /‘/ Iy
e

/ 6,7*"4" +f,ZM’ /’,gifﬁ/é 2’/2/“(74% - (c-#,) (’5%)}
(6’(%%)&6‘«@ -»g,) =7’ (5’(4%) +ath A, *E)
= Dzd’é(((%v&}‘f’(ﬁ“’{é)} J/z '%2 (FC,"C?) 2 (;{g"ij )



